
A neutron moving with a speed v strikes a hydrogen 
atom in ground state moving towards it with the same 

speed. Find the minimum speed of the neutron for which 
inelastic (completely or partially) collision may take 
place. The mass of neutroon mass of hydrogen 

1'67x 10 kg. 



Energy of the neutron is mv 
The condition for inelastic collision is 4 mv> 2AE 
AE = /% mv 
AE is the energy absorbed. 
Energy required for first excited state is 10.2 ev. 
. AE< 10.2 ev 

10.2 ev < % mv Vmin 
4x 10.2 

ev 
m 

10.2x1.6x10x4=6x 10 m/sec. V 

1.67 x 10-2 
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